

125-111

$$\begin{aligned}
 b_k &= \frac{1}{\pi} \left[\int_{-\pi}^0 -x \sin kn \, dn + \int_0^{\pi} x \sin kn \, dn \right] \\
 &= \frac{1}{\pi} \left[\left. -\frac{x \cos kn}{k} \right|_{-\pi}^0 + \left. \frac{x \cos kn}{k} \right|_0^{\pi} \right] \\
 &= \frac{1}{\pi} \left(-\frac{0 + \pi \cos k\pi}{k} - \frac{0 - \pi \cos k\pi}{k} \right) \\
 &= \frac{1}{\pi k^2} (-\sin \pi k + \sin \pi k - 0)
 \end{aligned}$$

شروطية $f(n) = \frac{\pi}{2} + \frac{-4}{\pi(1)^2} \cos \pi + \frac{-4}{\pi(3)^2} \cos 3\pi + \dots$

أوجد شروطية للمادة المعرفية لـ $f(n)$ في دورة (2π) بالترتيب بالشكل

$$f(n) = \begin{cases} 0 & -\pi \leq n < 0 \\ n^2 & 0 \leq n < \pi \end{cases}$$

$T_0 = 2\pi \Rightarrow \omega_0 = \frac{2\pi}{T_0} = 1$

$$a_0 = \frac{1}{\pi} \int_{-\pi}^0 f(n) \, dn + \int_0^{\pi} n^2 \, dn$$

$$a_0 = \frac{1}{\pi} \left. \frac{n^3}{3} \right|_0^{\pi} = \frac{1}{\pi} \left(\frac{\pi^3}{3} - 0 \right) = \frac{\pi^3}{3}$$

$$a_k = \frac{1}{\pi} \int_0^{\pi} n^2 \cos kn \, dn = \frac{1}{\pi}$$

linear
his
date
الكل

5
7
7

$$du = \cos kn \Rightarrow v = \frac{\sin kn}{k}$$

$$u = x^2 \Rightarrow du = 2x dx$$

$$= \frac{1}{k} \left(x^2 \cdot \frac{\sin kn}{k} \Big|_0^{\pi} - 2 \int_0^{\pi} x \sin kn dx \right)$$

تکامل کنید

$$a_k = \frac{1}{k} \left(x^2 \frac{\sin kn}{k} \Big|_0^{\pi} - 2 \int_0^{\pi} x \sin kn dx \right)$$

$$a_k = \frac{1}{k} \left(\pi^2 \frac{\sin k\pi}{k} - 0 - 2 \left(-x \frac{\cos kx}{k} \Big|_0^{\pi} + \int_0^{\pi} \frac{\cos kx}{k} dx \right) - \right.$$

$$\left. - 2 \frac{1}{k} \left(0 - 0 - \frac{2}{k} \left(-\pi \frac{\cos k\pi}{k} + 0 + \frac{1}{k} \left(\frac{\sin kn}{k} \Big|_0^{\pi} \right) \right) \right)$$

$$= \frac{1}{k} \left(\frac{2\pi}{k^2} \cos k\pi + 0 \right) = \frac{2}{k^2} \cos k\pi = \begin{cases} \frac{2}{k^2} & \text{اگر } k \text{ زوج} \\ -\frac{2}{k^2} & \text{اگر } k \text{ فرد} \end{cases}$$

$$b_k = \frac{1}{k} \int_0^{\pi} (x^2 \cdot \sin kn dx)$$

$$= \frac{1}{k} \left(-x^2 \cdot \frac{\cos kn}{k} \Big|_0^{\pi} + 2 \int_0^{\pi} \frac{\cos kn}{k} \cdot x dx \right)$$

$$= \frac{1}{k} \left((-\pi^2 - \frac{\cos k\pi}{k}) - 0 + \frac{2}{k} \left(x \cdot \frac{\sin kn}{k} \Big|_0^{\pi} - \int_0^{\pi} \frac{\sin kn}{k} dx \right) \right)$$

$$= \frac{1}{k} \left(-\pi^2 \cdot \cos k\pi + 2 \left(\pi \frac{\sin k\pi}{k} - 0 \right) + \frac{2 \cos k\pi}{k^2} \int_0^{\pi} \right)$$

14423

$$= \frac{1}{k\pi} \left(\frac{-\pi^2 \cdot \cos k\pi}{\pi k^2} + \frac{2}{k^2} (\cos k\pi - 1) \right)$$

$$= \frac{1}{\pi k^3} (1 - \pi^2 k^2 + 2) \cos k\pi - 2 = \frac{\cos 2\pi - 1}{\cos 2\pi - 1}$$

زودى ك
خودى ك

زودى ك=2 $\rightarrow \cos 2\pi = 1 \rightarrow \frac{-\pi^2 k^2 + 2 - 2}{\pi k^3} = \frac{-\pi}{k}$ زودى

خودى ك=1 $\rightarrow \cos \pi = -1 \rightarrow \frac{-\pi^2 k^2 - 2 - 2}{\pi k^3}$

$\Rightarrow \frac{\pi^2 k^2 - 4}{\pi k^3}$ زودى

$$f(x) = \frac{\pi^2}{8} \left(\frac{-2}{k^2} \cos kx + \frac{\pi^2 (1)^2 - 4}{\pi (1)^2} \sin \pi x + \frac{2}{(2)^2} \cos 2\pi x + \left(\frac{-\pi}{2} \sin \frac{2x}{2} \right) \right)$$

نوعى فونكشن لىنىيى فونكشن لىنىيى (2π) لىنىيى لىنىيى

$$f(x) = \begin{cases} +x & x > 0 \\ -x & x < 0 \end{cases}$$

$$T_0 = 2\pi \Rightarrow \omega_0 = \frac{2\pi}{T_0} = \frac{2\pi}{\pi} = 2$$

$$\frac{\pi^2}{8} + \frac{\pi^2}{8} = \frac{2\pi^2}{8}$$

$$a_0 = \frac{2}{\pi} \int_0^{\frac{\pi}{2}} (x) dx + \int_{-\frac{\pi}{2}}^0 (-x) dx = \frac{\pi}{2} \left(\int_{-\frac{\pi}{2}}^0 -x dx + \int_0^{\frac{\pi}{2}} x dx \right)$$

$$\Rightarrow a_0 = \frac{2}{\pi} \left(\left. -\frac{x^2}{2} \right|_{-\frac{\pi}{2}}^0 + \left. \frac{x^2}{2} \right|_0^{\frac{\pi}{2}} \right) = \frac{2}{\pi} \left(0 + \frac{\pi^2}{8} + \frac{\pi^2}{8} - 0 \right) = \frac{2}{\pi} \left(\frac{\pi^2}{4} \right) = \frac{\pi}{2}$$

$$a_k = \frac{2}{\pi} \left(\int_{-\frac{\pi}{2}}^0 (-x) \cos(kx) dx + \int_0^{\frac{\pi}{2}} x \cos(2kx) dx \right)$$

ALADIB

الخطوة

$$= \frac{2}{\pi} \left[- \left(n \cdot \frac{\sin(2Kn)}{2K} \right) \cdot \Big|_{-\frac{\pi}{2}}^0 - \int_{-\frac{\pi}{2}}^0 \frac{\sin(2Kn)}{2K} dn \right] + \left(n \cdot \frac{\sin(2Kn)}{2K} \right) \Big|_0^{\frac{\pi}{2}} + \int_0^{\frac{\pi}{2}} \frac{\sin(2Kn)}{2K} dn$$

$$= \frac{2}{\pi} \left[- \left(0 - \frac{\pi}{2} \frac{\sin K\pi}{2K} \right) \right] \ominus \frac{1}{2K} \frac{\cos 2Kn}{2K} \Big|_{-\frac{\pi}{2}}^0 + \left[\frac{\pi}{2} \frac{\sin 2K\pi}{2K} + \int_0^{\frac{\pi}{2}} \frac{\sin 2Kn}{2K} dn \right]$$

$$+ \frac{\pi}{2} \frac{\sin \pi K}{2K} - 0 + \frac{1}{2K} \frac{\cos 2Kn}{2K} \Big|_0^{\frac{\pi}{2}}$$

$$a_k = \frac{2}{\pi} \left[- \frac{1}{2K} \left(\frac{1}{2K} - \frac{\cos \pi K}{2K} \right) + \frac{1}{2K} \left(\frac{\cos \pi K}{2K} - \frac{1}{2K} \right) \right]$$

$$= \frac{2}{\pi (2K)^2} [-1 + \cos \pi K + \cos \pi K - 1]$$

مشتقنا وبعدها
كلنا حاصله
الانوار كذا

$$= \frac{1}{2\pi K^2} (-2 + 2 \cos \pi K) = \frac{1}{\pi K^2} (-1 + \cos \pi K)$$

$$= \begin{cases} 0 & \text{كزوجي } K \\ -\frac{2}{\pi K^2} & \text{كفردية } K \end{cases}$$

$\cos 0 = 1$

$(1 - 1) = 0$

$\cos \pi = -1$

$(-1 - 1) = -2$

